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Experiment notes
Math 2280-1
Fuesday Septemeer 20

_ Pendulum:
I » restart:
T > Digits:=4d:

© Here is my measurement of L, which we'll check again in class. [t assumes the cffective length of the
pendulum uses the the distance to the ball’s center of mass, from the top. (And, where exact

ly is the
L top?h)
Ce Le=1.532;
g:=9.8086;

omega:=sgrt{g/L}; #radians per second
t.=avalifl{omega/{2*Pi)); #cycles per second
T.=1/f: #seconds per cycle

L= 1.532
= 9.806

@ = 2.529976935
£:= 04026583352
7= 2483495094
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Mass-spring:
How Hookes constant:
Fs 88.5-45.5; #add 50g and measure displacement

. 430
> m:=.1; #the mass is 100g = 0.1 kg

e

: =00
My measurement for k, using a 50g mass and measuring the displacement in meters
> k*,43=.05%g;
! 0.43 k=0.49030
| > k:=.05*%g/.43;
ko= 1.140232558
r > cmega:=sgrtik/m) s#radians per second
f:=comega/evalf (2*Pi); #oycles per second
m.=1/f; #seconds per cycle
@ = 3376732974

Fi=0.5374237442
7= 1.860729100
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f»>ms:=.011:

#spring has mass 1lg
M:=m+ms/3;

M= 0.1036666667

¢ > omegal:=sgrc{k/M); #new angular freqg est.

: fl:=omegal/evalf (2*Pi); #new freg est.

Tl:=1/f1; #new period est
wl = 3.316478236
J1=0.5278336048
Ti:=1.894335366



